TEw ol e B [ToNMMHOMHAIBLHOE Pa3JIOKEHHE

Ums: Jlata: _ Ouenka:
(4x* + x+2)(x—4)— 5 x 6x— 4 (4x — 2)(2x + 1)(2x — 4)
(x+ 5)(> — 4x + 6) + (6x — 6)(6x — 6) (6> — 2)2x+ 1) + 2% —5x — 1
(5% +3x+ 1D)(x—3)+ 1 xdx+5 (5> +5x—2)Bx—4) +4 x dx— 6
(5x + 6)(3x° — 6x + 6) + (6x — 6)(3x + 3) x+ (64 2x)(6x — 5)(6x — 4)
(4x* — 6)(2x +2) — 58 — 5x — 1 (4x* + 6)(5x—5) — 2 +5x — 6
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B bl T =S &

[TonmHOMHANTEHOE Pa3I0KEHNE

Nwms: Jara: Orenka:

4> +x+2)(x—4)—5%x6x—4
43 — 152 = 32x— 12

(x+ 5)(2 — 4x + 6) + (6x — 6)(6x— 6)
x>+ 37x% — 86x + 66

(5> +3x+ 1)(x—3)+ 1 x4x+5
56 —12%% —4x + 2

(5x + 6)(3x% — 6x + 6) + (6x — 6)(3x + 3)
15 + 6x% — 6x+ 18

(4" — 6)(2x+2) = 5¢ —5x — 1
8 + 3% — 17x— 13

(4x — 2)(2x + 1)(2x — 4)
16x° — 32x% — 4x + 8

(6 — 2)2x+ 1)+ —5x— 1
1202 + 75> — 9x — 3

(5% +5x—2)(3x—4)+4 x 4x— 6
152 — 562 — 10x + 2

x+ (6+ 2x)(6x — 5)(6x — 4)
725 + 108x* — 283x + 120

(4% + 6)(5x—5)— 2% +5x— 6
20x° — 22x* + 35x — 36

www.snowmath.com


https://www.snowmath.com

